

1537

$$\alpha) f\left(\frac{1}{2}\right) = \frac{1}{2} + \frac{1}{\frac{1}{2}} = \frac{1}{2} + 2 = \frac{5}{2}$$

$$f(1) = 1 + \frac{1}{1} = 1 + 1 = 2$$

$$f(2) = 2 + \frac{1}{2} = \frac{5}{2}$$

$$\alpha) \text{ρα: } A = f\left(\frac{1}{2}\right) + f(1) - f(2) = \frac{5}{2} + 2 - \frac{5}{2} = 2$$

$$\beta) f(x) = \frac{5}{2} \Leftrightarrow x + \frac{1}{x} = \frac{5}{2} \stackrel{\cdot 2x}{x \neq 0} \Leftrightarrow 2x^2 + 2 = 5x \Leftrightarrow$$

$$\Leftrightarrow 2x^2 - 5x + 2 = 0 \stackrel{(a)}{\Leftrightarrow} x = \frac{1}{2} \quad \text{ή} \quad x = 2$$

$$\alpha) \text{ρα: } f\left(\frac{1}{2}\right) = \frac{5}{2} \quad \text{και} \quad f(2) = \frac{5}{2}$$